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Choose the most correct answer to Questions  1-13
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@&) The graph y = 212+ b passes dudu-gh the point (;3’_,-4).

What is the value of 67
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The coordinates of Lh.c:point P are

(A) (=2, 4) (B) (-4, 2)

(C) (-4, 16) D) (~16, 4)
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&, For the expression xy =12, answer the following questions

i Fill in the table below ,
_ s ' .
x. -12 . -6 -1 1 6 |12
Y : T ' -

i Sketch the.expression on the axes below labelling any asymptotes

b. Write down the aqnaﬁé’i of the figure belew
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On the same set of axes below sketch the graphs of y = #and y=47, labelling
Each graph clearly and showing any intercepts with the axes. .
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iii Find the co-ord
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- iv Use this info



k. For the function y=(x- ¥ -3: . . .

1. Find the equation of the axis of symmetry _

] ' ¢
i Find the coordinates of the vertex

i .

' ~ . jii Graph the function, showing the information above and also
5% . any intercepts with the axes. ( Note: Please give the x intercepts in exact
value form) ’
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a1 If 0" <x <96, show that sin{(90° —x) =cosx

( Hinf: Start with a right-angled triangle and let one of the other angles be x)

cos 26°

Hence, simplify — . :
plifs sin 647 "

Fiivd the exact value of sin 30° +cos38°



¢. A large paddock has dimensions shown. Calculate the length of CD
( correct to the nearest m ).
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